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ES Al 15,114,059 14,8%,200 217,859
Z Mt 15,114,059 14,896,200 217,859
50 X2 15,114,059 14,8%,200 217,859
510 = 0BX=2S 9,518,304 9,301,131 217,173
5 =208BX3S 9,518,304 9,301,131 217,173
511-01 =123 8,379,254 8,162,081 217,173
OX9d=s JEdxie(HEESIH XY) 2,500 1,250 1,250
OXNE=Ed FEadxe(s¥g 012= 834 XN) 20,539 17,652 2,887
OHl+=Xel &4 (1-2cH) 2,324,000 2,112,000 212,000
OAZLIIXY HHXI2A 17,536 16,500 1,036
520 Al - SHIBXZ2S 5,595,755 5,595,069 686
521 Al - SHIEZ3S 5,595,755 5,595,069 686
521-01 Al - SHIEX2S 5,595,755 5,595,069 686
OX9d=s JEdXe(HEESIH XH) 1,290 915 375
OAZLIIXY HHX2A 7,061 6,750 3N




